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FHEER () 2,904 2,904 0 0 0 0 1,719 1,719 0 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0 4,624 0 0 (0)
kA (4) 2,434 2,434 0 0 0 0 3,223 3,223 0 0 0 0 0 0 0 0 0 0 345 279 66 194 1 279 6,002 194 1 (279)
ig IR () 578 563 15 0 0 0 796 796 0 0 0 0 0 0 0 0 0 0 21 17 4 177 3 324 1,395 177 3 (324)
() 5,916 5,901 15 0 0 0 5,738 5,738 0 0 0 0 0 0 0 0 0 0 367 296 71 371 4 603 [ 12,021 371 4 (603)
A =R 0.0 0. 0. 72.7 7.5
kR 4,057 3,471 586 450 2,921 2,921 0 0 0 80 80 0 330 83 242 7,058 330 83 (692)
o [TEHER) 421 190 231 0| 1,878 1,878 0 0 0 7 7 0 0 32 240 2,306 0 32 (240)
Z #+(R) 4,478 3,661 817 450 4,799 4,799 0 0 0 87 87 0 330 115 482 9,364 330 115 (932)
AR =R 9.1 0. 0. 91.4 12.8
INGH(R) 10,394 9,562 832 450 | 10,537 | 10,537 0 0 454 383 71 701 119 1,085 | 21,385 701 119 (1,535)
iE’\ ARk (R) 10,844 0 2,359 23,740
) AR =R 4.1 0.0 80.8 9.9
. IENEN) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (0)
2k [k (kK 0 0 0 0 0 0 205 205 0 0 0 0 0 0 0 0 0 0 2,550 2,550 0 0 0 0 2,755 0 0 (0)
i B (o) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (0)
ZA (nh) 13,981 | 13,981 0 0 0 0 7,573 7,573 0 0 0 0 0 0 0 0 0 0 550 550 0 3,598 0 of 22,104 3,598 0 (0)
ML gl (B 4,515 4,515 0 0 0 0 3,152 3,152 0 0 0 0 0 0 0 0 0 0 1,907 1,907 0 0 226 0 9,574 0 226 (0)
;zé FRHIEE () 1,326 1,326 0 0 0 0 403 403 0 0 0 0 0 0 0 0 0 0 5 5 0 0 0 0 1,734 0 0 (0)
ARA A (K 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 212 212 0 0 0 0 212 0 0 (0)
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FHERT () 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 20 0 0 0 (20)
kA (AS) 0 0 0 0 0 0 119 119 0 0 0 0 0 0 0 0 0 108 119 0 0 (108)
;1} W BERs () 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 20 0 0 0 (20)
At (A%) 0 0 0 0 0 0 119 119 0 0 0 0 0 0 0 0 0 148 119 0 0 (148)

SCHEHAE 2R 0. 0.0 100.0 55.4
kR (&) 85 85 0 0 0 0 0 0 0 0 6 85 0 (6)
B [VEEERY () 0 0 0 288 288 0 0 0 0 0 3 288 0 (3)
£ A (A%) 85 85 0 288 288 0 0 0 0 0 9 373 0 9)

SCHaRA A AR 0. 0.0 100.0 2.4
/Nt () 85 85 0 407 407 0 0 0 0 0 157 492 0 (157)

fa\ BEF(KR) 85 407 157 649

keI R 0.0 0.0 100.0 24.2
o EIFNEN) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (0)
2k [k (1K) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (0)
o R (od) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (0)
EA (nd) 0 0 0 0 0 0 386 386 0 0 0 0 398 398 0 0 0 0 784 0 0 (0)
%% AR (BR) 723 723 0 0 0 0 0 0 0 0 0 0 84 84 0 0 0 75 807 0 0 (75)
g | FAHIE (nd) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (0)
ARAH#% (1) 0 0 0 0 0 0 0 0 0 0 0 0 6 6 0 0 0 0 6 0 0 (0)
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FHEER () 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4,624 0 0 (20) 0.4
i kAs (4) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6,121 194 1 (387) 8.7
fg 3 EN) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,395 177 3 (344) 27.3
F(R) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 12,140 371 4 (751) 8.5
SCHEME R 0.0 0.0 0.0 8.5
R () 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7,143 330 83 (698) 13.5
B [VEEERY () 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 2,594 0 32 (243) 9.6
ZANENES 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 9,737 330 115 (941) 12.5
SCHERAE T =R 0.0 0.0 0.0 12.5
INEF (AR) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 21,877 701 119 | (1,692) 10.3
iE'\ BEF(K) 0 0 0 24,389
SR R 0.0 0.0 0.0 10.3
" AR () 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (0) 0
Bk (R4 (7K) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2,755 0 0 (0) 0
i W (nf) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (0) 0
2 (m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 22,888 3,598 0 (0) 14
MU | i () 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 ol 10381 0 226 (75) 3
i{fé LA HL A (nd) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,734 0 0 (0) 0
ARAHIAE (K 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 218 0 0 (0) 0




